
8408 8408.5 8409 8409.5 8410
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

2

2.5

3

3.5

4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

0.5−

0

0.5

1

1.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

7225

7225.5

7226

7226.5

7227

7227.5

7228

7228.5

7229

ru
n

run:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7227}



8408 8408.5 8409 8409.5 8410
cyclenum

102.5−

102−

101.5−

101−

100.5−us
l_

1X

usl_1X:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

1.5

2

2.5

3

3.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

40.2

40.4

40.6

40.8

41

41.2

41.4

41.6

41.8

42

42.2

42.4

us
l_

4e
X

usl_4eX:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

17

17.2

17.4

17.6

17.8

18

18.2

18.4

18.6

18.8

19

19.2

us
l_

4e
Y

usl_4eY:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

38.5−

38−

37.5−

37−

36.5−

us
l_

12
X

usl_12X:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

7225

7225.5

7226

7226.5

7227

7227.5

7228

7228.5

7229

ru
n

run:cyclenum {run == 7227}



8408 8408.5 8409 8409.5 8410
cyclenum

144.4−

144.2−

144−

143.8−

143.6−

143.4−

143.2−

143−

142.8−

142.6−

142.4−

142.2−

us
r_

1X

usr_1X:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

2.5

3

3.5

4

4.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

202

202.5

203

203.5

204

us
r_

4e
X

usr_4eX:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

11.6

11.8

12

12.2

12.4

12.6

12.8

13

13.2

13.4

13.6

13.8

us
r_

4e
Y

usr_4eY:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

38.5−

38−

37.5−

37−

36.5−u
sr

_1
2X

usr_12X:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

7225

7225.5

7226

7226.5

7227

7227.5

7228

7228.5

7229

ru
n

run:cyclenum {run == 7227}



8408 8408.5 8409 8409.5 8410
cyclenum

32202.5

32203

32203.5

32204

32204.5

us
l_

co
il1

usl_coil1:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

6593

6593.2

6593.4

6593.6

6593.8

6594

6594.2

6594.4

6594.6

6594.8

6595

6595.2

us
l_

co
il3

usl_coil3:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

4059.5

4060

4060.5

4061

4061.5

us
l_

co
il4

usl_coil4:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

739.5−

739−

738.5−

738−

737.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

15638

15638.5

15639

15639.5

15640

us
l_

co
il7

usl_coil7:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

7225

7225.5

7226

7226.5

7227

7227.5

7228

7228.5

7229

ru
n

run:cyclenum {run == 7227}



8408 8408.5 8409 8409.5 8410
cyclenum

28401−

28400.5−

28400−

28399.5−

28399−

us
r_

co
il1

usr_coil1:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

5540−

5539.5−

5539−

5538.5−

5538−

us
r_

co
il3

usr_coil3:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

3423

3423.5

3424

3424.5

3425

us
r_

co
il4

usr_coil4:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

781.4−

781.2−

781−

780.8−

780.6−

780.4−

780.2−

780−

779.8−

779.6−

779.4−

779.2−

us
r_

co
il6

usr_coil6:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

18643.6

18643.8

18644

18644.2

18644.4

18644.6

18644.8

18645

18645.2

18645.4

18645.6

18645.8

us
r_

co
il7

usr_coil7:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

7225

7225.5

7226

7226.5

7227

7227.5

7228

7228.5

7229

ru
n

run:cyclenum {run == 7227}



8408 8408.5 8409 8409.5 8410
cyclenum

428−

427.5−

427−

426.5−

426−1X
_c

oi
l1

1X_coil1:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

71−

70.5−

70−

69.5−

69−1X
_c

oi
l3

1X_coil3:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

25

25.5

26

26.5

27

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

485.8−

485.6−

485.4−

485.2−

485−

484.8−

484.6−

484.4−

484.2−

484−

483.8−

483.6−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

94−

93.5−

93−

92.5−

92−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

24.6

24.8

25

25.2

25.4

25.6

25.8

26

26.2

26.4

26.6

26.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7227}



8408 8408.5 8409 8409.5 8410
cyclenum

168

168.5

169

169.5

170

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

42.6

42.8

43

43.2

43.4

43.6

43.8

44

44.2

44.4

44.6

44.8

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

8.5−

8−

7.5−

7−

6.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

178

178.2

178.4

178.6

178.8

179

179.2

179.4

179.6

179.8

180

180.2

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

23.5−

23−

22.5−

22−

21.5−4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

7.5−

7−

6.5−

6−

5.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7227}



8408 8408.5 8409 8409.5 8410
cyclenum

235−

234.5−

234−

233.5−

233−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

87.5−

87−

86.5−

86−

85.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

0.5

1

1.5

2

2.5

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

6.5

7

7.5

8

8.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

463.5−

463−

462.5−

462−

461.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7227}

8408 8408.5 8409 8409.5 8410
cyclenum

7225

7225.5

7226

7226.5

7227

7227.5

7228

7228.5

7229

ru
n

run:cyclenum {run == 7227}
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